Unit Test 1A Study Guide Questions
AKS Standards 10 and 11

1. Food webs show how _________ is transferred from organisms.



(S7L4a)

a. matter

b. blood

c. tissue

d. muscle

       2.  The arrows in a food chain and food web illustrate the flow of _________.  
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a.  prey


b.  energy








c.  predators


d.  consumers 
Use the food web to answer Questions 4 – 8.
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  3.   In the food web the organisms are ______________. 




(S7L4a)

a. interconnected by different paths.

b. follow just one path to find food.



c. part of the same kingdom.

d. both similar and different.

4.   In this food web, which organism(s) have the most energy to offer its consumers?

(S7L4b)
a. cacti
b. snake
c. lizard
d. scorpion
5.   Which organism(s) has the least energy to offer its consumers?



(S7L4b)
a. fox
b. cacti
c. snake
d. scorpion
6.  The energy source for both kinds of cacti is not shown in the food web.  What do you suppose is the energy source for these plants?








(S7L4b)
a. sun

b. rain

c. land

d. water

7.  In the food web the rodents eat flowers off the cacti.  The energy consumed by the rodents is 
 then transferred to the ________.







(S7L4b)
a. tarantula
b. lizard
c. snake
d. insects

8.  Which of these is true?








(S7L4b)

a. Energy can be transferred from one organism to another.

b. Energy is never converted from one form to another.

c. Consumers produce their own food.

d. Producers never make their own food.

9.  Which of these is an abiotic factor?






(S7L4c)

a.  cat tails

b.  maple tree

c.  decomposer

d.  type of soil
10.  A drought condition affects an area.  Lack of rain is _____ of that area’s organisms.
(S7L4c)


a.  a limiting factor


b.  the community


c.  an adaptation


d.  carrying capacity
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11.  The grasshopper population has declined over the past five years due to shortages of plants. Which animal 

would be greatly impacted by the decline of grasshoppers?





(S7L4c)


a. Frog
b. Hawk
c. Snake
d. Grass
12.  An ecosystem with plenty of _______ tends to be able to support more organisms.

(S7L4c)



a.  water



b.  herbivores



c.  bacteria



d.  humans

13.  A population of rabbits lives in a region with plenty of food, water, and living space. Which of these is true about the rabbit population?









(S7L4c)


a.  They face increased competition.



b.  They lives in a poor habitat.



c.  They have excellent biotic potential.



d.  They will become carnivores.

14.  Your puppy was playing outside and came back in with a small black tick in its fur. What type of symbiotic relationship do the puppy and the tick have?







(S7L4d)


a.  cooperative



b.  parasitism

c.  mutualism



d.  commensalism

15.  Which of these limits the size of a population?






(S7L4d)



a.  an increased amount of water



b.  an increase in the number of prey



c.  a decrease in competition



d.  a reduction in living space

16.  Remora fish attach to sharks and catch a ride through the ocean.  After the shark kills its prey, the remora detaches from the shark and enjoys a few morsels of leftover food.  The shark barely notices that the remora is even there.  What type of symbiotic relationship does the remora fish and shark have?
(S7L4d)



a.  consumerism



b.  commensalism



c.  parasitism



d.  mutualism
17.  Earth’s major biomes are characterized by both biotic factors (living) and ______ factors (non-living).
a. limiting









(S7L4e)

b. abiotic

c. carrying capacity

d. symbiotic relationships
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